


Ref# Part# Description Context Note Foot Note

1

© 00 N O Ol & DN

W W W W W W W ww NN NDNDNDNDNPNDMNNDNNEPEPPRPRPRPERPER R PR R
00 N O O B WNPFP O OWOOWwWNO Ol WEFkE O NO O WDN P O

NSP Assy, Enclosure
NSP Back Panel
195668GS Transfer Switch, 200A, with Handle
PPHMS, #10 - 32 x 1/2" (Purchase locally)
Washer, Ext. Tooth, #10 (Purchase locally)
PPHMS, 1/4-20 x 3/4" (Purchase locally)
PPHMS, #6- 32 x 3/8" (Purchase locally)
193664GS Insulation, Dead Front
197279GS Control, Board
201685GS Spacer
196094GS Ground Lug
Washer, Lock 1/4" (Purchase locally)
192065GS Breaker Circuit, 200A
Nut, 1/4" - 20 (Purchase locally)
192696GS Terminal, Neutral
B4857GS Fuse
192151GS Fuse Holder
197355GS Clip, Latching Wire
196355GS Decal, CT Warning
B5106GS Decal, Connection, Utility
196521GS Decal, 200A, ATS
205395GS Decal, Warning Shock
190984GS Decal, Fuse
B4986GS Decal, Ground
192597GS Decal, Sensing, Utility
193450GS Decal, Breaker, Circuit
PPHMS, #10 - 32 x 3/4" (Purchase locally)
192150GS Spacer
197198GS Decal, Wire Circuits
192879GS Insulation, Circuit Breaker
197294GS Decal, Contacts Rating
192881GS Bus Bar
Lockwasher, #10 (Purchase locally)
PPHMS, #10 - 32 x 1/4" (Purchase locally)
193159GS Decal, Reinstall Barrier

195728GS Current Transformer



